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1

2

m Choose the correct word or phrase.

I got hot during the race because 1 had put on too
many / much clothes.

Sally lengthened her skirt because it was
too short / short enough.

I'm not fit enough / too fit to run a half
marathon.

Paul had never run such / so fast before.

The fun run was cancelled because there weren't
such / enough participants.

Find and underline the mistakes in the
following sentences, then correct them.
There may be more than one correct
answer.

The runner needed medical attention because he
hadn't drunk too much water during the race.

Robin has got too many running shoes that he
hasn't got enough space for them,

I had such good time at the party after the race!

Rob was so fast runner that he was always the
winner.

Are you 50 tired to finish the race?

a Complete each sentence with a word or

phrase from the box. There are two extra
words or phrases you do not need.

enough | so | somany | somuch
such | sucha | too

The leader was far ahead that I

couldn't see him.
Yolanda didn't have
up before the race.
It was hot day that I drank four
litres of water.

time to warm

There were people supporting me
that I kept going when I wanted to stop.
Yesterday I was
my morning run.

sleepy to get up for

too, enough
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m Complete the second sentence so it has a

similar meaning to the first. Do not change
the word given. Use two to five words,
including the word given.

I didn’t enter the race because my

qualifying time was very slow: FAST
My qualifying time
for me to enter the race.

The road wasn't wide enough for all the

runners. TOO
There were for
the width of the road.

Paul was a very slow runner and all the
other participants passed him. SLOWLY

Paul that all
the other participants passed him.

I found it difficult to run because of a very

strong wind. SUCH
There was that
I found it difficult to run.

The cost of entering the marathon was

too expensive for us. ENOUGH

We didn't the
marathon.




